
How to setup IMPB on DES-3200 series (HW: C1, FW: 4.30) via SNMP 
MIB: IP-MAC-BIND-MIB 

Main OIDs: 
IMPB Entry Mgmt: 1.3.6.1.4.1.171.12.23.4.1.1 

IMPB Port State: 1.3.6.1.4.1.171.12.23.3.2.1.2 

 

1) IMPB Global Setting: 
CLI Command SNMP Command 

enable address_binding trap_log 
snmpset -v2c -c private 10.90.90.90 1.3.6.1.4.1.171.12.23.1.1.0 i 2 

2 = enabled ; 3 = disabled ; 1 = other 

enable address_binding dhcp_snoop 
snmpset -v2c -c private 10.90.90.90 1.3.6.1.4.1.171.12.23.1.4.0 i 1 

1 = enabled ; 2 = disabled 

enable address_binding dhcp_snoop ipv6 
snmpset -v2c -c private 10.90.90.90 1.3.6.1.4.1.171.12.23.1.7.0 i 1 

1 = enabled ; 2 = disabled 

enable address_binding nd_snoop   
snmpset -v2c -c private 10.90.90.90 1.3.6.1.4.1.171.12.23.1.8.0 i 1 

1 = enabled ; 2 = disabled 

     

  



2) Port Table 
CLI Command SNMP Command 

config address_binding ip_mac ports 1 

arp_inspection strict 

snmpset -v2c -c private 10.90.90.90 1.3.6.1.4.1.171.12.23.3.2.1.16.1 i 2 

1 = port 1  

2 = strict mode ; 3 = loose mode ; 1 = disabled 

config address_binding ip_mac ports 1 

ip_inspection enable 

snmpset -v2c -c private 10.90.90.90 1.3.6.1.4.1.171.12.23.3.2.1.17.1 i 1 

1 = port 1  

1 = enabled; 2 = disabled 

config address_binding ip_mac ports 1 

protocol ipv4 

snmpset -v2c -c private 10.90.90.90 1.3.6.1.4.1.171.12.23.3.2.1.18.1 i 2 

1 = port 1  

2 = ipv4 ; 3 = ipv6 ; 1 = all 

config address_binding ip_mac ports 1 

allow_zeroip enable 

snmpset -v2c -c private 10.90.90.90 1.3.6.1.4.1.171.12.23.3.2.1.3.1 i 1 

1 = port 1  

1 = enabled; 2 = disabled 

config address_binding ip_mac ports 1 

forward_dhcppkt enable 

snmpset -v2c -c private 10.90.90.90 1.3.6.1.4.1.171.12.23.3.2.1.4.1 i 1 

1 = port 1  

1 = enabled; 2 = disabled 

config address_binding ip_mac ports 1 

stop_learning_threshold 100 

snmpset -v2c -c private 10.90.90.90 1.3.6.1.4.1.171.12.23.3.2.1.8.1 i 100 

1 = port 1  

100 = Stop Learning Threshold entries number 

config address_binding dhcp_snoop 

max_entry ports 1 limit 30 

snmpset -v2c -c private 10.90.90.90 1.3.6.1.4.1.171.12.23.3.2.1.5.1 i 30 

1 = port 1  

30 = Stop Learning Threshold entries number ; 0 = No Limit 

config address_binding nd_snoop 

ports 1 max_entry 20 

snmpset -v2c -c private 10.90.90.90 1.3.6.1.4.1.171.12.23.3.2.1.5.1 i 20 

1 = port 1  

20 = ND Snoop Max Entry number ; 0 = No Limit 

config address_binding 

recover_learning ports 1 

snmpset -v2c -c private 10.90.90.90 1.3.6.1.4.1.171.12.23.3.2.1.9.1 i 2 

1 = port 1  

2 = start ; 1 = other 

show address_binding nd_snoop 

binding_entry port 1 

snmpwalk -v2c -c private 10.90.90.90 1.3.6.1.4.1.171.12.23.4.6.1 

1 = port 1 

show address_binding dhcp_snoop 

binding_entry port 1 

snmpwalk -v2c -c private 10.90.90.90 1.3.6.1.4.1.171.12.23.4.3.1 

1 = port 1 

 

   



 

 

 

 

 

  



3) Binding Table 
CLI Command SNMP Command 

config address_binding ip_mac 

ipaddress 10.90.90.99 mac_address 

0C-0C-0C-0C-0C-0C ports 1 

snmpset -v2c -c private 10.90.90.90 

1.3.6.1.4.1.171.12.23.4.1.1.2.10.90.90.99 x 0c0c0c0c0c0c 

1.3.6.1.4.1.171.12.23.4.1.1.4.10.90.90.99 x 8000 

1.3.6.1.4.1.171.12.23.4.1.1.3.10.90.90.99 i 4 

10.90.90.99 = IP address 

0c0c0c0c0c0c = MAC address 

8000 = port 1 

 [Each character 0 can turn into binary 0000, which can stand for 4 ports.  

For example, character “8” turns into binary is “1000”, which means port 1; 

Character “6” turns into binary is”0110”, which means port s 2-3. 

Hence, if you want to select ports 10, then your octet string value is:0040, which 

binary is 0000 0000 0100 0000 0000 0000 0000 0000 => 00400000] 

4 = createAndGo(4) 

delete address_binding ip_mac 

ipaddress 10.90.90.99 mac_address 

0C-0C-0C-0C-0C-0C 

snmpset -v2c -c private 10.90.90.90 

1.3.6.1.4.1.171.12.23.4.1.1.3.10.90.90.99 i 6 

10.90.90.99 = IP address 

6 = destroy(6) 

   

   

  



4) Blocked Table: 
CLI Command SNMP Command 

delete address_binding blocked vlan_name 

default mac_address 0C-0C-0C-0C-0C-0A 

snmpset -v2c -c private 10.90.90.90 

1.3.6.1.4.1.171.12.23.4.2.1.7.1.12.12.12.12.12.10 i 6 

1 = the VLAN ID of VLAN name “default”  

12.12.12.12.12.10 = The Dec. format of MAC address 

0C0C0C0C0C0A 

6 = destroy(6) 

show address_binding blocked all 

snmpwalk -v2c -c private 10.90.90.90 

1.3.6.1.4.1.171.12.23.4.2.1 

1 = port 1 

   

   

 
 

 


